Parts Breakdown

Model BS-BR-3150-SS 20236

[43047.1

43048.0
80
08

51713.5




Parts Breakdown

Model BS-BR-3150-S S 20236

Item No.

AF877

21579

21836

38502
AE670

38469

38534
38557

27696

38464

78587

27699

27702

38482

AF878

38404

38055

AF879

67026

38207

38489

16416

AF880

16419

16421

38281

16422

16423

30045

Description

Shaft Retainer Ring 20x1.2 DIN 471
for 20236

Central Shaft Pin 6x50 DIN1481 for
20236

Clip for 20236

Seal 01604BR for 20236
Term. Eyelet for 20236

Cover for 20236

PFS M8x25 DIN 933 ZB for 20236
Screw Nut DIN 934 ZB for 20236

Nylon Cover CN 4478 for 20236

Door Knob for 20236
PFS M6x16 DIN 916 FOSF. for 20236

Cramp T 18R Small for 20236

PFS M6x20 DIN 965 INOX for 20236
Screw M5x10 DIN 84 INOX for 20236

Screw M4x10 DIN 912 INOX for 20236

Nut M4 DIN 934 for 20236

Nut M5 DIN 934 Stainless Steel for
20236

Emergency Label ESP./INGL./PORT.
for 20236

Screw M10x30 DIN 933 Stainless Steel
for 20236

Washer.L.A10.5 DIN 125 Stainless Steel
for 20236

Nut M10 DIN 934 Stainless Steel for
20236

Screw M6x12 DIN 933 Stainless Steel
for 20236

Screw M10x20 DIN 933 INOX for 20236

Washer L.A6 4 125 INOX for 20236

Screw Nut M8 934 INOX for 20236

Screw Nut M6 DIN934 INOX for 20236

Screw M8x20 DIN 933 Stainless Steel
for 20236

Washer L.A8.4 Stainless Steel for 20236

Bracer K22-LM(T-801) for 20236

Position

00105.8

00267.4

00435.9

00741.2
01137.1

02313.2

02728.6
02729.4

03678.1

03792.3

03856.3

04203.0

08779.3

09197.9

09198.7

09205.3

10471.0

10789.1

12346.3

123471

12350.1

12384.6

124346

12442.7

124451

12448.6

12455.9

12460.5

12469.9

Item No.

38282

AF881

AF882

38044
AF883

38086

16432
AF884

67029

AF885

16435

AF886

AF887

30048

38045

AF888

38084

AF889

38096

38087

38613

AF890

AF891

AF892

AF893

38593

AF894

67033

AF895

Description

Screw M3x10 DIN 84 Stainless Steel
for 20236

Backboard for 20236

Motor Pulley SK (Primer) for 20236

Nut M3 DIN 934 Stainless Steel for 20236
Fluted Handle M6x15mm INOX for 20236

Screw M8x16 DIN 933 Stainless Steel
for 20236

Screw 1/4x1/2 for 20236
Collecting Box 522 for 20236

Screw M6x10 DIN 933 Stainless Steel
for 20236

Washer.L 1/2" INOX for 20236

Screw M4x10 for 20236

Shaft Retainer Ring 25x1.2 DIN 471
for 20236

Screw B.3.5x9.5 DIN 7981 INOX for
20236

Washer L.A4.3 for 20236

Washer L.A3.2 DIN 125 Stainless Steel
for 20236

Bushing Dry-Met 15x17x15
1TFP015017015 RK for 20236

Screw M8x40 DIN 933 Stainless Steel
for 20236

Reed Switch NA Importado for 20236

Encapsulated Magnet for 20236

Washer L.A5.3 DIN 125 INOX for 20236

PFS M3x6 DIN 7985 INOX for 20236

Nut M6 DIN 1587 INOX for 20236

Elastic Pin 8x60 DIN 1481 for 20236

Elastic Pin 5x60 DIN 1481 for 20236

Lower Tree SKLG for 20236

Screw M5x6 DIN 84 Stainless Steel for
20236

Handle with Stem M12x160mm for 20236

Screw M4x10 DIN 933 Stainless Steel
for 20236

Handle with Stem M8x55mm INOX for
20236

Position

12491.5

12581.4

12612.8

12853.8
13069.9

13238.1

13361.2
13458.9

13759.6

137731

14463.0

14802.4

15599.3

16798.3

17181.6

17353.3

18351.2

20032.8

20033.6

20194.4

21639.9

22200.3

22574.6

225754

22576.2

22996.2

23406.0

23739.6

23844.9

Item No.

38412

AF896

AF897

27720
AF898

AF899

AF900
AF901

AF902

AF903

67038

AF904

AF905

67040

AF906

AF907

AF908

AF909

AF910

AF911

AF912

AF913

AE579

AF914

AF915

AF916

AF917

AF918

AF919

Description
PFS M4x5 DIN 7985 INOX for 20236

Nut M8 DIN 1587 DIREITA LATAO
NIQUELADO for 20236

Contactor.CWM18.10 220V 50/60Hz
for 20236

Omcan Logo (Machines) for 20236
Screw M8x40 DIN 916 FOSF. for 20236

Articulation Sheet Big for 20236

Articulation Sheet Small for 20236
Shutter 25x5x100 for 20236

Sheave for 20236

Handle with Stem M8x12mm INOX
for 20236

Grounded Wire Label for 20236

Screw M4x8 DIN 7985 INOX for 20236

Thermal Protector Protection for 20236
Instruction Manual Label for 20236
Thermal Protector Label Ingles for 20236

Attention Ear Wire Label Ingles/Frances
for 20236

Attention Warning Label I/F for 20236

Attention 110/220/380V Certificate Label
for 20236

Warning Label INGL./FRANC. for 20236

Movable Table Drag Pin for 20236

Lower Wheel (VERNIZ) for 20236
Identification Label Motor/Resist Certific.
ETL for 20236

CB.3x2.1mm2 SJX2M CERTIF. for
20236

Plug Americano CERT.20A 250V
(1X991) for 20236

Foot 7/8" TB.QUADR.40 APOIO Anti-
Skid for 20236

V-Ring 55xDI.24x8 for 20236

Upper Wheel Washer for 20236

Movable Table Set SI-315HD CERT.
for 20236

Spiral Protection 1/2"x600mm for 20236

Position

239321

24842.8

25072.4

27154.3
27180.2

29180.3

29181.1
29260.5

29286.9

31020.4

31140.5

32433.7

32629.1

32832.4

33161.9

33170.8

33303.4

33305.0

33307.7

33617.3

33866.4

35474.0

35738.3

36075.9

36303.0

36546.7

36558.0

36814.8

36918.7



Parts Breakdown

Model BS-BR-3150-S S 20236

Item No.

AF920

AF921
AF922

AF923

AF924

AF925

AF926

67042

AF927

AF928
AF929
AF930
AF931
AF932
AF933
AF934

AF935

AF936

AF937

AF938

AF939

AF940
AF941

AF942

Description
ETIQ.ETL Listed for 20236

Lower Assembly (Grey) for 20236
Complete Lower Assembly for 20236

Screw M3x8 DIN 965 INOX for 20236

Bearing 6004 Z DIN 625 NSK/TK
Di.20xDe.42xL.12 for 20236

Wheels Lid for 20236
Wheels Scrapper Peg for 20236

Emergency Button 2NF (Pull to Unlock)
for 20236

Double Button CSWBDNANFBIDL
(10046334) for 20236

Protection APBD (10046217) for 20236
Screw M8x12 DIN 933 INOX for 20236
Blade Guide for 20236

Certified Stand Set for 20236

Door Lock Shaft for 20236

Housing Closure for 20236

Certified Stationary Table Set for 20236

Stationary Table Frontal Support for
20236

Stationary Table Lock Pin for 20236

Regulator Shaft for 20236
Complete Blade Guide for 20236
Stem SI-315HD CERT. for 20236

Blade Protection Set for 20236
Blade Guide Support for 20236

Bearing 6305 DDU Di.25xDe.62xL.17
FAG/NSK for 20236

Position

36958.6

37598.5
37641.8

37881.0

39080.1

39718.0

40315.6

40640.6

40642.2

40645.7
40736.4
42112.0
42146.4
42557.5
42656.3
42659.8

42703.9

42715.2

42727.6

42734.9

42736.5

42737.3
42807.8

42900.7

Item No.

AF943

AF944
AF945

AF946

AF947

AF948

AF949

AF950

AF951

AF952
AF953
AF954
AF955
AF956
AF957
AF958

AF959

AF960

AF961

AF962

AF963

67049
AF964

AF965

Description

Retainer Ring with Hole 62x2 DIN 472
for 20236

Closure Sheet TS for 20236
Stationary Table Back Support for 20236

Scrapper Sheet for 20236

Scrapper Guide for 20236
Scrapper Blade for 20236

Scrapper Lock Pl for 20236

Scrapper Guide Pin for 20236

Complete Wheel Scrapper for 20236

Complete Blade Scrapper for 20236
Wheel Scrapper Sheet for 20236
Complete Upper Wheel 400mm for 20236
Upper Wheel Shaft for 20236

Upper Wheel 400mm (VERNIZ) for 20236
Stretcher Assembly for 20236

Stretcher Set for 20236

Spacer 0.5mm for 20236

Motor 3CV 60Hz Single Phase W (with
Ther.Protec.) for 20236

Screw M3x12 DIN 7985 INOX for 20236
Rollers Shaft Set for 20236
Movable Table Stop for 20236

Stop M6 for 20236
Table Lock for 20236

Table Peg for 20236

Position

42901.5

42906.6
43025.0

43032.3

43033.1

43034.0

43039.0

43040.4

430471

43048.0
43064.1
43375.6
43410.8
43430.2
43696.8
43697.6

44645.9

45172.0

45536.9

46765.0

46766.9

49458.5
49459.3

50779.2

Item No.

AF966

AF967
AF968

AF969

AF970

AF971

AF972

AF973

AF974

AF975
AF976
AF977
AF978
AF979
AF980
AF981

AF982

AF983

AF984

AF985

AF986

AF987
AF988

Description
Nylon Screw for 20236

Electric Box Set for 20236

Electric Box Closure for 20236

Wire Pass-Through GR. 19x31.8mm
for 20236

Pass-Through Tube Set for 20236

Structure Set for 20236
Press Cord HSK-K PG07 (C209070115)
for 20236

Sensor Support for 20236

Cut Regulator Set for 20236

Complete Cut Regulator for 20236

Nut M3 DIN 1587 INOX for 20236
Column Closure for 20236

Actuators Spacer for 20236

Actuators Washer Sheet for 20236
Screw M4x16 DIN 933 INOX for 20236
Housing Set for 20236

Upper Door Set 315 for 20236

Lower Door Set 315 for 20236
Blade Protection Seet SI-315HD for
20236

Moved Pully Diam.180mm for 20236

L3150344DS-*Blade 3.150mm 3/4"
4DPP S

Belt A 34 (Goodyear) for 20236
Thermal Protector 14602422 for 20236

Position

50797.0

50799.7
50809.8

50819.5

51301.6

51327.0

51328.8

51329.6

51712.7

51713.5
51735.6
51736.4
51737.2
51738.0
51739.9
51753.4

51755.0

51756.9

51757.7

58872.5

58877.6

58880.6
69425.8



